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(B) Poliucs

Sports (D) Journalism
4. The State tree of Nagaland is-
| } Coconut (B) Horse chestnut
tC} Alder D) Deodar

5. Jarawa tribals belong to-

{'ﬁ'} jharkhand (B) Meghalaya

(C) Orissa (D) Andaman and Nicobar Islands
Y 6. Which of the following is concerned with the origin of Indian medicine?

[-'!"} Rig"ﬂdﬂ (B F:llx':;u'w.i'.l

(C) Yajurveda (D) Atharvay eda

7. Which of the following river is also called as the salt river?

4
S (A) Luni (B) Narmada
:I ' (C) Krishna D) Beas
I
e 8. Which of the following trophies is NOT concerned with football?
: {.'1) DEM |1|i“f\'.::|']-"1|'i'-+ (Bl Rovers o up
© Santhosh trophy (D) Ranj tropin
r* 9. is also called as the breakbone fever.
1 (A) Typhotd (BY Rhimins

I:C) YE.I]DW ff.‘s'El‘ (1) I}L':l_!.;m'

¢ as anaesthetic is-
(B) Nitriec Oxide
(D) Nitrogen Pentoxide

10, The oxide of Nitrogen used in medicin

(A) Nitrogen Dioxide
(€ Nitrous Oxide

dopt Indian Constitution?
B) 1945

r

In which year did the Parliament a
|
D) 1952

. 1947
©) 1950

(B) Sarajevo
(D) Jakarta

L



(D) All of these
mmmm IST and GMT?

(B) 5 hours 20 minutes
{D) 5 hours 40 minutes

A) Balv '_ t Ray P,Ighu Committee (B) Mahalanobis Committee

'-iuh ﬁ;hok Mehta Committee (D) Gadgil Committee
Vhat is the expansion of GST?

(A) Goods and Services Tax (B) Gold Sales Tax

(C) Goods and Supplies Tax 1) Gold Service Tax

. 19. If PERFURATE is written as ETAREPRUF, how is PESSIMISM written in that language?

() PEMSSSIMI B) PESISMMIS

(C) MSISEPMIS (D) MSIMISSEP

;ﬁi« ‘Which Indian biosphere reserve is included in UNESCO list in March, 20167

.......

() Agasthyamala
(C) Sundarbans 12} Nanda Devi

21. When deep sca fishes are brought to the surface of the sea, their bodies burst, This is
because the blood in their bodies flows at very-

L

(C) Low 5p-ccd D) Low pressur
f’ 22. The remains of the Vijayanagar empire can be (ound in-
'Y ()} Bijapur B)  Croleonda
5 (C) Hampi 1) :bafody
23. Who among the following was NOT a member of the Constituent Assembly?
(A) Sardar Vallabhbhai Patel B) Acharya |.B. r..npdm
(C) Jaya Prakash Narayan D) KM My
. Which among the following is the highest peak?
@) Dhnuhgm B) Namcha Barwa

1) Nanga Parbat
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N PART - B (Mathematics) _ =
26. Mithun and Sheavan can do a picce of work in 10 days and 15 days respectively. They work

W“Ill’l‘ fﬂlsdﬂ}‘! and then Shravan leaves. Mithun finishes the remaiming work alone. In
how many days is the 1otal work finished?

A\) 1 ®) 2
) 4 D) 8
27. A sum when reckoned at Simplc Interest EI;'L{- per annum amounts to € 630 after 2 years,
Find the sum.
(A} 300 B) Lo
©) 650 D) 270

28. In a business, Ramesh, Suresh and Mahesh invested ¥ 350, £ 400 and T 420 respectively,

After dividing the net profii of { 130 among themselves, lind the share of Mahesh.

() T4 B) 33

[q 57 (1)) €63

29. Find the time taken 1o cover a distance of 360 km by a teain moving at 20 metres/second.
f,w 3 hours (B3} 4.5 hours

0L S hours ) 7 hours

L
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diagram find the ratio of the total amount spent on football to that of hockey.
Pescent of Moncy Spent on Various Spors for On Yesr

(A) 1:15
(Cy 15:1

34. Find the largest number which divides 62, 132 a0

1 937 1o leave the same remainder in cach

casc.
@\ 2 B) 32
© 33 D) 35

Jﬁ- lnﬂuﬂlmﬂm}. 70% of the candidates passed in English, 65% in Mathematics, 2T%
_‘ﬁﬂﬂl in both subjects and 248 passed in both the subjects, The total number of candidates
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A man boa i slrea . :
“ iﬁ_‘ | mﬂ:ﬁ: m:‘htcf:r"ﬂ:n against the steeam io 20 minutes and retumn in 15 minutes,
w 0.5 km/hr BY 08 km/!
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e . llmfhr D) 2km/hr
7. The list price of a sofa set is T 15750 and the sho
" .'.: - . i ki‘.'i‘: “ | &
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.

» be sold 1o have a gain of 874,
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J"j-.ﬁm:s the

gle o ation of the Sun, when the Jength of the shadow of a tree is

(B) 4R
) %°

:"1' TWDP;P“' A and B can fill a tank in 10 hours and 15 hours respectively. If both
opened together, the tank will be full in-

(ﬁ} 5 hours (B) 6 hours
(€) 122 hours (D) 7Yz hours

the taps arc

43. If the side of an equilateral triangle is 4 cms, find its perimeter.

(A) 5cms B) Tems
(C) 12 cms M) 15 cms
| 3 4 - o ereond dav. If the
| 44. A man reads 2 of a book on one day and — of the remainder on the ScCOnE L8
5
d number of pages still unread are 40, how many pages did the book contains
. - :
[ (A) 250 “|B) 320
c (C) 420 D) 550
45. The LCM of two numbers is 48. The numbers are in the ratio 2 : 3. The sum of the number
i5:
) 28 (B) 32
(CL 40 (1) 64
(B) 3140

(D) 5140

(B) 15and 25
(D) 7andl15



...... i s i

il verface the question MArk in the following equation?

e ®) 2

)

.
e |

! l_'_' ' ; PART - B (Mathematics)
T 26 tom® ban $54 uf 13 SHAT 10 Beren Dbatn 15 Fwvud' Sauiud. 3@ agdr 605 3 Harw 23
 3rd, 0dd 56 00 34D Dy, DD DID et Lrg Iwd. 03 2ude 27 Fewd'
frédabadis?
} w1 B) 2
B (O« D) 8
: ! é? Roddy 24 Faray “i g%% SPy® Fod Taw) 2 deddyorw oo ¥ (30 sondl. o Taub

' J BRFAed,

| {A) T 300 By Tova

J | <(C) 650 (D) & TN

28. nd orgrdod’ ooh, A8 Sodatn ik scom T 380, T 400 Sobats T 420 Swud Ind. 256 g
¥ 1800 2006" Doodet "' ) ganiiRcd.

= {AJ T43 (B) 53
L (O 57 (D) 263

29, 20 5/5 308 patrdips) o 360 4 ooty SAEIE D DDA ST Fol.
 (A) 3 dowew (B) 4.5 fowes 1
(O 500w (D) 7 fiotoew
0. enjeiso Sabod: log,,, (0.01)
& (B) -2

n D) -4

. . _ (B) 28030y

D) § dedapo 5
3 1 e .

F

B

¥

P



@A) 1:15
(O 15:1

34, 62, 132 Bdasss 237 wi srheDRyE WD) Medomyud’ ud 433 3y 89 U sopys SRS,
\) 29 ) 32
(€ 3 (D) 35
oS'ar aOPITH, B Fopered s

35. w8 5846, wEPpoe’ T0% b wefdwd'ar, 5% 263 ried
27% 0ot Sy 200 248 0B Joc Mogowrud’ adPpeTE Swdo wEjgw RoBj -

(A) 00 (B) 200

(C) 600 () 700
36. wd 353 D6 3708 2r08dorr 2 32 &rord)
15 aodrod’ ard Sabrdud. A8 ST ) EDRBE.

(B} 08d4.20/0

20 surud AcdAod Ao B Haire )

(A) 0.5 8.2/ro

CC) 1 4.5/ (1) 2 40/

37, o8 O S awg), pEed O 7 15750 dato corae abaard 107 AT)06 sADIFO. A6

¢ ahuardd ODessudd Jwdo:

(A) L1575
= () X14075

: I_-I@JGIWMAJ o8 drdand o),
e Dogd o2y d.
\) 8

(B) € 13175
1) T 14175

4% Ade Focwords, 8% ogo 3R we drdrand O3y

(B) 16
D) 32
st 27. & depfud 80 1§ Dowyd Sl dedy.

B) 30
D)

e



(&) 5w _(B) 6 rloke
5 12 74 fobiw
43, L8 ADo Bowo alngy Suw 4 Nod, &) win Fudd sRFsE.

-

"mi::. B) 7o
C) 123 D) 1530

' 4
M sy ud PRI S % 5 o Ber SHHord Lban PJeed Ad s D ST D, BB IDOND

a Sdu dowyg 40 sond, spFEed’ I b eIy ow?
) 230 «®) 320
{©) 420 D) 550
45, Bodd Bowjv D, LCM 48, » Ropgeny 2: 3 30,04 ey ow. ¥ Soyge Jude:
() 28 B) 32
X .,ﬂ ..".] MIRIT
L 0.46-0.046 _
i 0.0046 =46
{;\; 2140 (B 3140
(C) 4140 D) 5140
! ‘;1 mwmqaa;g 3:5.%0 noqlﬂ unba:a:,muna)g 2:3 vdpducd. u Ronus
- A4) 1220010 20 (B) 15 s 25
(©) 10 3000 30 (D) 7 200t 15

?




Chonse the : PART - i) (English)
<ho0se the appropriate word 10 complete the sentence.

The mare electricity you use, )
‘ A ) Your bill will be higher @) Will your bill be higher
‘ . (C) Will be higher your bill M) The higher yout bill will be
. Eﬂ. Choose the correct verb from the given options to complete the sentence:
~ Hematophobia the fear of blood,
(A) Are ‘B Has been
{C} Were D) I«.
53, Choose the correct tense from the given optioas 10 complete the sentence.
Indira the film already.
«£A) Had seen 3] Has sven
(C) Saw (1) s secing

54, Choose the correct alternative which will improve the quoted part of the given sentence.
"Never | have seen' such a beautiful bind.

Q) 1 have never seen B) 1 have always seen
(C) Neither have | 1} Noimprovement

Choosc the correct antonym of the given word from the options given below.

PROLIX
(J’l) Shﬂﬂ-ﬁpnkm (B) Reasonable
1 (q Distinet i D:I F.‘:‘q.ql.n:-am;
:’:.'-" Choose the correct conjunction from the given oplions 1o complete the sentence.
4 you have any doubt, please ask me.
{BJ Because
D) Unul

__:. # alternative which best expresses the meaning of the idiom /phrase given below.
Ve always insist that everything should be "in Apple-pic order’,
everythingin a neady amanged (B Likes apple flavour in 4 gighes

. ™M
H"'*““"““’“ .@} WM&WW“W ri



(B) PRQS
(D) QRPS

A .'. - 1e article for the sentence given below.

~8€ I app ml“l‘ !
3 . '..‘ _m:.t uﬁdlli |
& An B) A
l'iq M (D) No arncle

! given word from the options given helow. |

 61. Choose the correct synonym of the
|
BELITTLE
(ﬁ)‘ T}mpmgc (B .‘kll:I]lI'i we
(C) Apprectate D) Overrate

62. Complete the proverb:

Brevity is the soul of _ =
: (BY Wi
A) Fun
ﬂ:(‘C; J{'.lkt‘ )Y Satire

63. Choose from the four opuons, the word that best substtutes the given phrasc.

A furnace for burning waste, rubbish, cte.
AN Blast furnace
(C) Generator

By Incincratos

D) Cess [

64. Identify the correct sentence from the options given below.

AA) I lixe icecream (B) 1 wall kike icecream
(C) Ilikes icecream D) 1 likes icecreams

65. Choose the correct question tag for the given sentence.
Post this letter, :

(A) Don'tyou AB) Wil you
(C} Won't you (D) Shall you

(B) Pleasant
(D) Bonng




I:D] No mupmtﬂﬂtm
9. ﬁnnlr. the correct preposition from the given options (0 complete the sentence.

Continuous practice will equip you the examination.
(A) At 7

B In
(C) Iato AD) For
. Choose the MISSPELT word.
[A:l Possession E”:' IForbear
{C) Chrysanthemam M) Commutable

Directions (Q. 71 - 75): Read the following passage carefully 4nd answer the questions
given below.

To avoid the various foolish opinions to which mankind is prone, no superhuman brain is
lcqmmi A few simple rules will keep yvou free, not from all errors, but from silly errors, It
the matter is one that can be seuled by observation, make the observation yourself.
Aristotle could have avoided the mistake ‘of thinking that women have fewer tecth than
men, by the simple device of asking Mrs. Aristotle 10 keep her mouth open while he
counted. He didn't do =0 because he thought he knew. Thinking that you know when
infact you don't is a bad mistake, to which we are all prone. I I‘Lli““ '“1"““_ that
hedgehogs cat black bectles, because T have been told that they dos but if 1 was w "““I- L
book on the habits of hedgehogs, I should not commit myself umll [ had scen one enjoying
this diet. Aristotle, however, was less cautious, Ancient and medieval writers knew all about
unicomns and salamanders; however, not one of them thought it necessary to avoid
tic statements about them because they had never seen one of them.

71. The author implies that-

AN Hedgehogs eat black beetles (B) Hedpehogs do not really eat black beetles

(C) He is wnting a book about hedgehogs () He bas never seen a hedgehog eating beetles

72. The author portrays mankind as-

‘[AJ Very intelligent (B) Having superhuman qualities
(C) Nervous and weak (D) By and large, lazy and ignorant

73. According to the author, unicomns and salamanders-
w Emtl:d in the past but now have become  (B)  Are invisible

(E] Never really existed D) Have caused strange stories to be written

about them
hm favour of drawing conclusions on the basis of-
- 4B) Study of eminent thinkers
D) Discussion and consultation

(B) Scienufic
?)Cﬁmmnmmﬁul

e
A -






] () mogen (D) dorod
(A) asd 200 (B) Aot
(€) =%d 200 (D) 2ded

87, “Sorran S6AA0R06D SSAALLS uBtavs om0
D e D MU0 e dnium SO,

() sdarussdan (B) aropusscay
£) edidrd vocroaw (D) charrocsrdin
88. Fara; rwiu decng Swjum ardyod:
2085 >0 .0080) 6 Lar i e,
~A) =52'8 B) ma
(C) wansd (13) 200
89. g8 mhogorggan:
) o0 89y arn &b AB) 8330 263 byo ad0yso
(C) o 15 3 Fqoca 63030 D) 68eb 2 4 mod acind

0. Iardy STERD Poang ITHLT Ardyed:
O Faad  Siogow.

(A) vy (B) =2
) 5 (D) wavs
91, 20 da30, ¢ DS D 2ardns acirda-
g (A) drdg Adrdiw (B) Cloat Daraaw

(C) xwparvaw AD) edganers sarnay

£08D6" owgargay:
() S are powso T ) 390 me8 dyuos zg

‘ pae17



||||||||

(C) o (D) vapo

—_—_-__—-_—-—d

26,000 £3) dSorgod’ S2dr 896 45D FR3w JwwBT) . Db DUl 38 a8
D ESmdd €8 doddben pad) o, 23 Sabor) J) Y DB(0S" 83 FRIQ HrTr J2 GE A

mmaﬁﬂmm.ﬂbﬂML#EﬁﬂMWEm.mﬁ:ﬂ
. .-“'ﬂm&M!m.iﬂmwnﬂmmliﬂ trgd ogolod. 2D
 2ré'damo, daabe, ufdabe, e drgd 1898¢" F2ably’ €310

(A) Soao | B) Boobo

(€) efdaio (D) 83aix

97. cinddaboth ¢ ¥ @odd AV,
(A) gryd ek (B) =3
AC) =y o308 (D) st

(A) Do e 3 wsge (B) daxd) sfface

" =ﬂ' | ' ooy 50 (D) 3o gyare 2054 Dsgor

B A= . ;* : -
Ft 99. 56,08 2, W__ ARG FRIGW JWRLT) .
) e )

AD) tearorg g0

.

(B) awddaio
g
5.




	post-img1.jpg
	post-img2.jpg
	post-img3.jpg
	post-img4.jpg
	post-img5.jpg
	post-img6.jpg
	post-img7.jpg
	post-img8.jpg
	post-img9.jpg
	Binder4.pdf
	post-img10.jpg
	post-img11.jpg
	post-img12.jpg
	post-img13.jpg
	post-img14.jpg
	post-img15.jpg
	post-img16.jpg
	post-img17.jpg


